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The figures in the margin indicate full marks
for the questions

Candidates eligible for Internal Assessment shall
answer from PART—I and PART—II only
( Marks : 60+30=90)

Candidates not eligible for Internal Assessment shall
answer from PART—I, PART—II and PART—II
( Marks : 60+30+10=100 )

PART—I
( Marks : 60 )°
> R AN T [ @I v 2pE Ted FlRa
S| o R I BIRTRIA e SR SEAw F4 S

OG5 *HCAEE & @I GiReR Ao @0l fefa 34
s o fo=r ;o (8x8)+(>x8)=30

(F) SNCE! A90e] oS IR |
PP’ AT Ry WS e

A13—3800/992 ( Turn Over )



(2)

(%)  SAPNICT NG (AR GTRoR80e |
HALNR PR ST SRRl I

(51) oY qEierR Wa ENRTPE Jer IR | I
O TTEISEE R TREMASRIER SRBASTSL
CoIf | :

(9) @1 SR B oS olfRe @R |
o TR YR R Sy A1 FrateEer @
SRR |

(&) =/ TR esE & @l oA |
oo cafeszE] cofasfimeR |

(5) e F2A18 fASIASPPT ©2 TSNS |
T TP ARG SR RSNG|

(®) @W\SWWW%WI
SRl AP IR

(%) [RCORANT T FFRT T FARALAAN |
foacema asm oz TR ol Mg |

21 e eefeere WY [ wre Y R
MAT W7 ONE AN SRS eNewd FRE
G o =41 | 0+3+b=%0

© 1 ‘g - wmefe TP -1 Y4 efeem
CoR SrIea Raf fora o So

A13—3800/992 ( Continued )



(3)

8| FFS wHwe W.W TICE SO P
PG’ AOFT COWIT 17 PICBTS (2 e (=peewed

e CarR, Juie o | 8+u=%0
¢! TGP e geofere 9Y {0 e’ A5

=t #iife, e fRem <= | 3+r=30
S| ARFS G Roree AR -3 e < | o

Q| T IR R Y I5 IR ? @3 IREE
@V ‘aww T Rowr SHON [eeRE AREeES
ST 9P -9 B e 41 1 O+S+u=30

PART—II
( Marks : 30 )

b | WeReN SRR @0 O & & wew o 39
R AfS W@ R AR wNeres aREEE

TrIza T Srad 4t | S+3+=%0
SRR

A SRR Teotfs I TR e gL Sl

411 : S

51 TRfeR age’ FrE [ @ @@ age @3Re
R e aRy TRfes ey aym EREER $Rak
CEo=l 41| 3+5+4=%0

A13—3800/992 ( Turn Over )



(4)

-
O] FIRFR “Me-21oe Rmyg Ifre w2
TIPS (2R, ARE SR J&2 74 | So
o | &R R (Pl 9B Ry vt s @

() =f1fer > Gy
(R) O IS VG AT ZRT ARTET
(M) e SRR o = qow

(F) e At

33 | oo /e Aewibt e Taw fora sxe=¢
' () “Szrery’ -7 wReR 7 9

- (}) ‘orgmm’ IR & epee 3w

(1) g’ I3 (S 2 '

(%) ‘omepies®’ SRR efSeh Ee Remmie anar
AAfEE Care ? :

(8) ‘orSTaCE’ F19 IR I 2

(5) IR AR’ (@ A AHFS AT 9]
tz= ?

(R) ‘T’ @ SHE Terem 2
(%) et et xmgees = 2

A13—3800/992 ( Continued )



(S5)

PART—III
( Marks : 10)

(SreReRle e #AREes )
53 | OFR MCR20F Bed ford : Ixe=%0

(F) ‘oo a@r’ & REwe 27 |WR PReR
2

(¥) ‘CTeTR I S Ko AW & 2

(o) EEmERpE’ f dree 9 ? R 95 2
(q) e’ -3 AeFS 7 fF2 2 fF agos 4fve?
(8) ‘FARIE SRS & AFes, @ o1 IR 2

* k&

A13—3800/992 3 (3) ASM M 4



